Problem 1

For each of the following sequences:

- (i) Determine the z-transform, $X(z) = \sum_{n=0}^{\infty} x[n] z^{-n}$, if it exists.
- (ii) Include with your answer the region of convergence of the z-transform in the z-plane.
- (iii) Specify whether or not the DTFT of the sequence, $X_d(\omega) = \sum_{n=-\infty}^{\infty} x[n]e^{-j\omega n}$, exists.
 - 1. $x[n] = 3^n u[n]$
 - 2. $x[n] = \cos(\frac{n}{2})u[n]$
 - 3. $x[n] = \sin(\frac{n\pi}{4})u[n]$
 - 4. $x[n] = \left(\frac{1}{4}\right)^n u[n] + \left(\frac{1}{8}\right)^n u[n]$
 - 5. $x[n] = \left(\frac{1}{2}\right)^{n-1} u[n-1] + \left(\frac{4}{5}\right)^{n-1} u[n-2]$
 - 6. $x[n] = 2^n (u[n] u[n 10])$
 - 7. $x[n] = (1/8)^n u[n] + (1/2)^{n-1} u[n-1] + (1/8)^{n-2} u[n-2]$
 - 8. $x[n] = n \cos(n/2)u[n]$

$$\frac{P_{1}}{1.} \quad x(n) = 3^{n} u(n)$$

$$\frac{X(z)}{X(z)} = \sum_{n=0}^{\infty} \left(\frac{z}{z}\right)^{n}$$

$$= \frac{z}{z-s} , \quad |z|>3$$

$$Roc : |z|>3 . DTFT does not exist$$

$$2. \quad x(n) = (c_{n}(\frac{n}{z}) u(n)]$$

$$X(z) = \frac{1}{2}\sum_{n=0}^{\infty} e^{i\frac{\pi}{z}} z^{-n} + \frac{1}{2}\sum_{n=0}^{\infty} e^{i\frac{\pi}{z}} z^{-n}$$

$$= \frac{1}{2} \left(\frac{z}{z-e^{i\beta}} z^{-n} + \frac{z}{2-e^{i\beta}} z^{-n} + \frac{1}{2}\sum_{n=0}^{\infty} e^{i\frac{\pi}{z}} z^{-n} \right)$$

$$Roc : |z|>1 . DTFT does not exist$$

$$3. \quad x(n] = Sin(\frac{n\pi}{z}) u(n)$$

$$x(z) = \frac{1}{2} \sum_{n=0}^{\infty} e^{i\frac{\pi}{z}} z^{-n} - \frac{1}{2} \sum_{n=0}^{\infty} e^{-i\frac{\pi}{z}} z^{-n}$$

$$= \frac{1}{2} \sum_{n=0}^{\infty} e^{i\frac{\pi}{z}} z^{-n} - \frac{1}{2} \sum_{n=0}^{\infty} e^{-i\frac{\pi}{z}} z^{-n}$$

$$Roc : |z|>1 . DTFT does not exist$$

4.
$$x[n] = (\frac{1}{n})^{n} u[n] + (\frac{1}{8})^{n} u[n]$$

 $x(z) = \sum_{n=0}^{\infty} (\frac{1}{nz})^{n} + \sum_{n=0}^{\infty} (\overline{sz})^{n}$
 $= \frac{z}{z-1/4} + \frac{z}{z-1/8}, |z| > 1/4$
 $RoC: (z| > 1/4, OTFT exists$
5. $x(n] = (\frac{1}{2})^{n-1}u[n-1] + (\frac{1}{3})^{n-1}u[n-2]$
 $x(z) = \frac{z}{z-1/2} z^{-1} + \frac{u}{3} = \frac{z}{z-4/3} z^{-2}, |z| > 4/5$
 $Roc: |z| > 4/5, OTFT exists$
(. $x(n] = 2^{n}(u[n] - u[n-10])$
 $y = 2^{n}(u[n] - u[n-10])$

$$X(z) = \int_{n=0}^{\infty} z^{n} z^{-n} = \int_{n=0}^{q} \left(\frac{a}{z}\right)^{n}$$

= $\frac{1 - \left(\frac{a}{z}\right)^{n}}{1 - 2/z} = \frac{z^{10} - 2^{10}}{z^{9}(z - 2)}$
ROC: $|z| > 0$, DTFT exists
$$= \int_{1}^{1 - 2/2} \frac{1}{z^{9}(z - 2)} = \int_{1}^{1 - 2/2} \frac{1}{z^{9}(z - 2)} = \int_{1}^{1 - 2/2} \frac{1}{z^{9}(z - 2)}$$

7.
$$x(n) = \left(\frac{1}{8}\right)^n u(n) + \left(\frac{1}{2}\right)^{n-1} u(n-1] + \left(\frac{1}{8}\right)^{n-2} u(n-2)$$

 $X(z) = \sum_{n=0}^{\infty} \left(\frac{1}{8}\right)^n u(n) + z^{-1} \sum_{n=0}^{\infty} \left(\frac{1}{8}\right)^n z^{-n} + z^{-2} \sum_{n=0}^{\infty} \left(\frac{1}{8}\right)^n u(n)$
 $= \frac{z}{z^{-1}} + z^{-1} \frac{z}{z^{-1}} + z^{-2} \frac{z}{z^$

8.
$$x(n) = n \cos(\frac{n}{\lambda}) u(n)$$

Let $z(n) = (n)(\frac{n}{\lambda}) u(n)$
 $Z(z) = \frac{z}{2(z-c^{3/2})} + \frac{z}{2(z-c^{-3/2})}$
 $Z(z) = \int_{n=0}^{\infty} (0) \frac{n}{\lambda} z^{-n}$
 $\frac{d}{dz}(z) = \sum_{n=1}^{\infty} -n \cos(\frac{n}{\lambda}) z^{-n-1}$
 $= -z^{-1} \sum_{n=1}^{\infty} +n \cos(\frac{n}{\lambda}) z^{-n}$
 $= -z^{-1} \sum_{n=0}^{\infty} n \cos(\frac{n}{\lambda}) z^{-n}$
 $\frac{d}{dz}(z) = -z^{-1} X(z)$
 $X(z) = -z \frac{dz(z)}{dz}$
 $= -\frac{z}{z} \left[\frac{z-c^{1/2}-z}{(z-c^{1/2})^{z}} + \frac{z-c^{-1/2}-z}{(z-c^{-1/2})^{z}} \right]$

 $X(Z) = \frac{1}{2} \frac{Z}{2} \frac{z}{(z-e^{3/2})^2} + \frac{Ze^{-3/2}}{2(z-e^{-3/2})^2}$ 2010/00/00/00 ROC |2| >1 DTFT does not exist.

Problem 2

For each of the following z-transforms:

- Sketch the pole-zero plot.
- Assume the sequences are causal (i.e. zero for n < 0) and sketch the region of convergence (ROC).
- Compute the inverse z-transform, corresponding to the ROC you determined.

1.

$$X_1(z) = \frac{z^{-1}}{1+2jz^{-1}}$$

2.

$$X_2(z) = \frac{1 - \frac{1}{3}z^{-1}}{1 + \frac{3}{4}z^{-1} + \frac{1}{8}z^{-2}}$$

3.

$$X_3(z) = \frac{1+z^{-2}}{1-\frac{5}{2}z^{-1}+z^{-2}}$$

4.

$$X_4(z) = \frac{1 - 3z^{-1}}{1 + 0.5z^{-1} + 0.25z^{-2}}$$

-1

#1.
$$X_1(z) = \frac{z^{-1}}{|t^2_j z^{-1}|} = \frac{1}{z^{+2}}$$
, \Rightarrow Pole at $z = -z_j$
(a)
Sketched as tollows: (zeros as 'o', poles as "z')
 $1m(z)$
 $1m(z)$
 $2m(z)$
 $1m(z)$
 $k_0(z)$
 $p_0(z)$ as "z')
 $p_0(z)$

(b)
$$\chi_{i}(t) = \frac{1}{t+2j} = \overline{z}^{1}(\frac{z}{z-(-\frac{z}{2})})$$
 (at χ and χ^{1} denote
() $\frac{t}{t+2j}$ inverse zeronsform z -transform and inverse
 $t+2j \longleftrightarrow (tj)^{n} U(n)$ z -transform z -transfo

#2.
$$X_{1}(z) = \frac{1 - \frac{1}{3}z^{-1}}{\frac{1}{1 + \frac{3}{3}z^{-1} + \frac{1}{5}z^{-2}}} \quad \begin{array}{c} P_{0}(z_{1} + z_{2} - z_{3}) \\ P_{0}(z_{2} + z_{3}) \\ z_{2}(z_{2} - z_{3}) \\ \hline (z_{2} + z_{3})(z_{3} + z_{3}) \end{array}$$



 $\begin{array}{l} \chi_{2}(z) = \frac{1}{2(z+\frac{1}{3})} & \Rightarrow \frac{\chi_{2}(z)}{z} = \frac{1-\frac{1}{3}}{(z+\frac{1}{3})(z+\frac{1}{2})} & \Rightarrow \frac{\chi_{2}(z)}{z} = \frac{1-\frac{1}{3}}{(z+\frac{1}{3})(z+\frac{1}{2})} & = \frac{1}{z} + \frac{1}{z} \\ \hline Partial Fraction Expansion (z = 0 Gage G.14 in The course notes): (2+\frac{1}{3})(z+\frac{1}{2}) & = \frac{1}{z+\frac{1}{2}} + \frac{1}{z+\frac{1}{2}} \\ \hline A = \frac{1-\frac{1}{3}}{z+\frac{1}{2}} & = -\frac{7}{3} \\ \hline Hus \\ \chi_{2}(z) = -\frac{7}{3} \frac{2}{z+\frac{1}{2}} + \frac{10}{3} \frac{2}{z+\frac{1}{2}} \\ \hline Hus \\ \chi_{2}(z) = -\frac{7}{3} \frac{2}{z+\frac{1}{2}} + \frac{10}{3} \frac{2}{z+\frac{1}{2}} \\ \hline Hus \\ \chi_{2}(z) = -\frac{7}{3} \frac{(-\frac{1}{3})^{2}}{(-\frac{1}{3})^{2}} \\ \hline Hus \\ \chi_{2}(z) = \frac{10}{2} \\ \hline Hus \\ \chi_{2}(z) = \frac{10}{2}$



$$X_{3}(t) = \frac{2^{2} + 1}{(t - \frac{1}{2})(t - 1)} = \sum \frac{X_{3}(t)}{t} - \frac{2^{2} + 1}{t(t - \frac{1}{2})(t - 1)} = \frac{A}{2} + \frac{B}{2t + \frac{1}{2t - \frac{1}{2}}} + \frac{C}{2t - 2}$$

$$A = \frac{t^{2} + 1}{(t - \frac{1}{2})(t - 1)} \Big|_{t=0} = 1; \quad B = \frac{2^{2} + 1}{t(t - \frac{1}{2})(t - 1)} \Big|_{t=\frac{1}{2}} = -\frac{5}{3}$$

$$C = \frac{2^{2} + 1}{t(t - \frac{1}{2})} \Big|_{t=2} = \frac{5}{3}$$
Thus
$$X_{3}(t) = 1 + (-\frac{5}{3}) \frac{t}{t - \frac{1}{2}} + \frac{5}{3} \frac{t}{t - 2} \quad (Roc.: 1t) = 2$$
inverse (Roc.: 1t) = $5(n) - \frac{5}{3}(\frac{1}{2})^{n} u(n) + \frac{5}{3} 2^{n} u(n)$

.

4.
$$X_{4}(t) = \frac{1-3t^{-1}}{(t-3t^{-1}t-3)^{2}t^{-2}} = \frac{t^{2}-3t}{t^{2}+0.5t+0.55}$$

poles: $t^{2}+0.5t+0.25=0 = 3$ $t_{1,2} = -\frac{1}{4}t \int \frac{\sqrt{3}}{4} = \frac{t}{t}e^{-\frac{t}{3}\frac{2\pi}{3}}$
 $\frac{1}{2} = \frac{A}{(t-\frac{1}{2}e^{\frac{1\pi}{3}})(t+\frac{1}{2}e^{-\frac{1}{3}\frac{2\pi}{3}})} = \frac{A}{t-\frac{1}{2}e^{-\frac{1}{3}\frac{2\pi}{3}}} + \frac{B}{t-\frac{1}{2}e^{-\frac{1}{3}\frac{2\pi}{3}}}$

$$A = \frac{\frac{1}{2}e^{j\frac{2\pi}{3}} - 3}{\frac{1}{2}e^{j\frac{2\pi}{3}} - \frac{1}{2}e^{j\frac{2\pi}{3}}} = \frac{-13 + 53j}{j^2 53} = \frac{1}{2} + \frac{13j}{253}$$

$$B = \frac{\frac{1}{2}e^{-j\frac{2\pi}{3}} - 3}{\frac{1}{2}e^{-j\frac{2\pi}{3}} - \frac{1}{2}e^{j\frac{2\pi}{3}}} = \frac{1}{2} - \frac{13j}{253}$$

$$(B = A^*)$$

$$H(t) = \left(\frac{1}{2} + \frac{13j}{2\sqrt{3}}\right) \frac{1}{2 - \frac{1}{2}e^{j\frac{3\pi}{3}}} + \left(\frac{1}{2} - \frac{13j}{2\sqrt{3}}\right) \frac{1}{2 - \frac{1}{2}e^{j\frac{2\pi}{3}}}$$

$$= h(n) = \left(\frac{1}{2} + \frac{13j}{2\sqrt{3}}\right) \left(\frac{1}{2}e^{j\frac{2\pi}{3}}\right)^{n} u(n) + \left(\frac{1}{2} - \frac{13j}{2\sqrt{3}}\right) \left(\frac{1}{2}e^{j\frac{2\pi}{3}}\right)^{n} u(n)$$

$$= \left(\frac{1}{2}\right)^{n} u(n) \left(\frac{1}{2}e^{j\frac{2\pi}{3}}\right)^{n} u(n) + \left(\frac{1}{2} - \frac{13j}{2\sqrt{3}}\right) \left(\frac{1}{2}e^{j\frac{2\pi}{3}}\right)^{n} u(n)$$

$$= h(n) = \left(\frac{1}{2}\right)^{n} u(n) \left(\left(\frac{1}{2} + \frac{13j}{2\sqrt{3}}\right) e^{j\frac{2\pi}{3}} + \left(\frac{1}{2} - \frac{13j}{2\sqrt{3}}\right) e^{-j\frac{2\pi}{3}}\right)$$

$$= \left(\frac{1}{2}\right)^{n} u(n) \left(\frac{1}{2}2\cos(\frac{2\pi n}{3}) - \frac{13}{2\sqrt{3}}2 - \frac{1n}{2}\right) \left(\frac{2\pi n}{3}\right)$$

$$h\bar{\iota}n = \left(\frac{1}{2}\int u\bar{\iota}n\right) \left(-\log\left(\frac{2\pi n}{3}\right) - \frac{13}{43} \operatorname{Jin}\left(\frac{2\pi n}{3}\right) \right)$$

$$= \left(\frac{1}{2}\right)^{n} \left(\cos\left(\frac{2\pi n}{3}\right) u\bar{\iota}n\right) - \frac{13}{63} \left(\frac{1}{2}\right)^{n} \operatorname{Jin}\left(\frac{2\pi n}{3}\right) u\bar{\iota}n\right)$$

$$Po(: |\overline{2}| > |\overline{1}_{1}| = |\frac{1}{2} e^{\frac{2\pi n}{3}}| = \frac{1}{2}$$

$$Plot:$$

$$\frac{1}{2}e^{\frac{2\pi n}{3}}| = \frac{1}{2}$$

$$Pe(\bar{\iota})$$

$$\frac{1}{2}e^{\frac{2\pi n}{3}}| = \frac{1}{2}$$

$$Pe(\bar{\iota})$$